S3 Revision — Simplifying surds

1 | Express V18 — V2 asasurdinits simplest form 2
2 | Express V44 + 3v11 asasurd in its simplest form 2
3 Simplif @ 2
implify 73
4 | simplify V3 x+/27 2
5 Express \/E(\/? + \/E) ++/6 inthe simplest form 2
6 Express \/—65 with a rational denominator in the simplest form 2
12 marks
S3 Revision — Using the laws of indices

7 | Express 4a® x %a3 in its simplest form 2
8 | Simplify 5b'% x 4p~3 2

9 Simplify n*xn~’
Give your answer with a positive power 2
10 | Express c¢>(c3® —c) inits simplest form 2
11 | Simplify 6x7 = 2x3 2
12 Simolif 10a8xa3 3

implify  ——7—
13 | Remove the brackets and simplify  (p>)? 1
14 | Remove the brackets and simplify  (6¢*)? 2
15 (a) Express vx inindex form 1

1
(b) hence evaluate 252 1
18 marks
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Answers
Mark 1 know how to simplify v18 V18 =92 = 342
Mark 2 give your answer in the simplest form 3vV2 -2 =22
Mark 1 know how to simplify v45 V44 =411 = 24/11
Mark 2 give your answer in the simplest form 2vV11 + 3v11 = 5v11
Mark 1 know how to simplify v12 V12 =43 =23
- 2V3 _

Mark 2 divide by V3 Nl 2
OR
Mark 1 divide V12 by V3 = =i
Mark 2 give your answer in the simplest form V4 =2
Mark 1 know how to simplify v27 V27 =93 =33
Mark 2 multiply by V3 3V3xv3=3%x3=9
OR
Mark 1 multiply V'3 by V27 V3 x27 =481
Mark 2 give your answer in the simplest form V81 =9
Mark 1 Multiply out the bracket V2V3 +2V2 =6 + V4
Mark 2 give your answer in the simplest form V6 + V4 4+6 =26 +2

: V3, . Co . : 6 V3 _ 63
Mark 1 multiply by N to give a fraction with rational denominator NG X N
Mark 2 simplify the fraction %g = 2v3
Mark 1 simplify powers 4 X % x a8
Mark 2 simplify the constants (the numbers) 2a8
One mark will be given for 8a® or 2a'®, no marks will be given for 8a'®
Mark 1 simplify powers 5X 4 X b7
Mark 2 simplify the constants (the numbers) 20b7
One mark will be given for 20p~3°
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9 | Mark1l simplify powers n=3
. . - 1
Mark 2 give your answer with a positive power 3
One mark will be given for n™28 = %8
n
10 | Mark 1 multiply out the bracket cSxcd—-c3xct
Mark 2 simplify the powers c® —c®
One mark will be taken off for a final answer of ¢8 — ¢® = ¢?
11 | Mark 1 simplify powers 6x* + 2
Mark 2 simplify the constants (the numbers) 3x*
One mark will be given for 3x1°
12 10(111
Mark 1 simplify powers on the numerator a7
N 10a*
Mark 2 simplify the powers completely >
Mark 3 simplify the constants 5a*
Full marks are given for applying laws of indices in a different order
5a8 x a3
————=5a' xa® = 5a*
a
13 | Mark 1 simplify powers pl0
14 | Mark 1 simplify powers c®
Mark 2 square the constant 36¢8
One mark will be given for 6¢® or 36¢°
1
15 | Mark 1 know that this is a fractional index xz
1
Mark 2 use the answer from (a) 252 =+25=5
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